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ESHT 111 2 42 1 69 1 51 1
KEH 28 0 13 0 15 0 10 0
NER) 22 0 7 0 15 0 6 0
AR 156 0 68 0 88 0 61 0
=1 38 -1 7 -1 31 0 0 -1
78 L ET 380 -1 213 -1 167 0 240 —1
EHT 7 0 6 0 1 0 8 0
& HT 194 4 78 3 116 1 67 4
EEHT 160 -2 72 -2 88 0 82 -2
AT 191 0 102 1 89 —1 113 —1
AHT 201 -2 94 -2 107 0 95 -1
2 EHT 367 4 208 2 159 2 214 3
$Er 61 4 25 1 36 3 39 2
18 faET 90 3 35 0 55 3 42 0
ESHT 110 1 57 2 53 —1 60 1
—&T 0 0 0 0 0 0 0 0
NET 118 0 57 0 61 0 53 1
t&ET 143 0 66 -1 77 1 59 0
INET 74 0 37 0 37 0 31 0
NET 180 0 76 0 104 0 85 0
+&T 214 —4 89 -1 125 -3 106 -3
35k Fe T 350 -2 160 1 190 -3 163 -1
5iEET 3,069 12 1,481 9 1,588 3 1,343 5
EFAET 3,913 1 1,916 2 1,997 -1 1,700 5
Ed=1:] 1,682 -3 819 -2 863 -1 670 -2
ohEHT 1,636 1 880 2 756 —1 900 2
FTHEET 646 —1 295 0 351 —1 245 0
H #THT 3,615 19 1,767 13 1,848 6 1,685 12
Lid6 BT 2,975 7 1,444 3 1,631 4 1,263 5
¥R BT 2,822 10 1,377 5 1,445 5 1,057 5
JIIFEET AL 4556 -4 2,230 -3 2,326 —1 1,996 -6
JIIFE BT F 2,160 0 1,046 2 1,114 -2 855 3
ARKHET 8,984 -1 4365 1 4619 -2 3,820 —4
=&HT 3,873 —12 1,859 -8 2,014 —4 1,671 -5
[ FH AT 1,422 -5 733 -1 689 —4 624 -2
EREFETER — 2,568 -3 1,213 0 1,355 -3 987 -1
EREFET R 5 2,066 2 1,008 4 1,058 -2 852 4
EREFRT PR 5 655 0 327 2 328 -2 271 -1
& K BT 5,497 —11 2,602 -9 2,895 -2 2,136 -3
R F0ET 287 -2 278 -2 9 0 279 -2
EE 3] 5 0 9 0 x 0 5 0
EXRE—TH 352 1 190 1 162 0 185 1




EXREIZTH 248 4 100 2 148 2 128 3
EXREI=TH 0 0 0 0 0 0 0 0
EXRETETH 0 0 0 0 0 0 0 0
EXRETATH 216 0 106 0 110 0 91 0
LtEE 0 0 0 0 0 0 0 0
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FPRET—TH 187 -1 87 -1 100 0 94 -1
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bR =TH 448 2 216 0 232 2 190 1
FFET=TH 694 -3 322 -2 372 -1 313 -1
hRFETE T B 395 -1 188 -1 207 0 204 -1
FFEETRTH 609 -2 279 -1 330 -1 240 -1
FEET—TH 205 0 118 -1 87 1 112 1
HER—TH 298 -1 172 0 126 -1 175 -1
AEER—TH 386 4 189 2 197 2 205 2
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TZHRETE—TH 1,338 -6 623 -6 715 0 635 -5
TREE=-TH 366 1 191 0 175 1 170 0
THRETER=TH 636 0 308 0 328 0 269 0
TZETRMTH 950 1 432 2 518 -1 442 1
THRETERATH 892 1 482 0 410 1 493 1
TZETRANTH 563 -2 278 0 285 -2 281 -1
THRETEETH 1,549 0 739 3 810 -3 771 1
TZETR/\TH 1,076 0 498 2 578 -2 591 2
THRETREATH 331 1 181 2 150 -1 175 1
T EETdE—TH 90 1 50 0 40 1 78 1
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AEREE 74 0 29 0 45 0 54 0
AEHTH 52 0 29 0 23 0 25 0
AERTR4E 3 0 0 0 3 0 4 0
ABET /MR 77 -2 36 -2 41 0 33 -1
AEBTKE 1 0 1 0 0 0 1 0
AEHRT{EH 28 0 15 0 13 0 12 0
AERRE 1 0 2 0 X 0 1 0
AERTE /R 7 0 3 0 4 0 6 0
4B 7 0 2 0 5 0 6 0
AEMXEST 250 -2 117 -2 133 0 142 -1
LERISIA 23 0 13 0 10 0 14 0
LERLINE 33 0 13 0 20 0 25 0
LERTZ DL 22 0 10 0 12 0 14 0
[LERTEHER 9 0 4 0 5 0 10 0
LERTER 33 0 13 0 20 0 23 0
I SET 3 9 0 6 0 3 0 10 0
LERXA 16 0 9 0 7 0 10 0
LER/NMNEE 27 0 15 0 12 0 12 0
FEHT 13 0 10 0 3 0 11 0
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e IRET M H 7 1,063 -7 506 -4 557 -3 408 0
BIETERER 1,308 —1 632 -1 676 0 397 -1
BT ERER 1,095 -1 518 -3 577 2 448 -2
BT = A 3,683 -7 1,773 -4 1,910 -3 1,486 -1
B X EE 10,048 -6 4,806 -7 5,242 1 3,851 0
T o 1,727 —6 805 -3 922 -3 637 -3
BRLLIBT TR ESF 2,464 -3 1,167 -3 1,297 0 975 1
BRLLET /M| 1,805 -2 899 -2 906 0 750 2
BRLLBT PR T 1,598 -2 789 ~1 809 -1 623 0
BRILET SR 1,288 4 619 3 669 1 508 0
BRILLET )R 2293 -2 1,113 -2 1,180 0 898 -2
EALESTE 4,740 1 2,335 0 2405 1 2,061 0
BRI Hh X EEET 15,915 -10 7,727 -8 8,188 -2 6,452 -4
= B 107,763 -33 52,351 -9 55,412 -24 47,156 7




